o°/B/1BI12

kRS
N
} < 2005HSE SASM 7| g X0E 3K
‘ |
| 2AISMET| TMEAIE 8X| X|H T [
L, )
ARE= 20059 SAE2HY 7] FujE FAA W 2 = 03 OAF | Dropael | = 7t
H) 3}o LHLE S B2 7] FEAYANAL HA
A dae Y 2d7)2 AAs A & oo s 289212 70%
%4%—/}—&— ] ]% H%Z}-O]] ZJZIJUH% 73'?‘ x]__od i_l E—l Al /g 227“_)1\_ 317Hi 4]%
Buls B2 WgA Fu gy, 27 § §Ee
49 940 93 900 4718 o) me o HSTHNE| sH | el | 1%
HuAs HE2y oz YAt fAAGAE
22 oFgol wE [pAE2YY] TAF © E AT F JdE 1Y 857589 AHE HA Y
AA a2 79 23%( 013 11,237E/Y)] on Yo 053REH Auye] FAHE &
ARE SAE2Y 7] Aujye] wWE o] F 7ol SAE Agr) FIFANIANL 2 ALESF
AdE 4z A8 H71E #ed APFAE AIF g 98 FERD dF S99 2899

MA(97719) 20059 19 19%EH S4E2Y7] 9& FIAA4 AL AFol}

A Y& FAE dFHo|} o]f FFAHEUALC] FFHE SAHE2H )
COE AnE sAd dEsty FAE2HI AYAIE 5 S22 ALAELE FIl9
TIAEUANAL 2 AL E A&AH R B3 @ AGPIFA AEY FEd IA 9T Ao
gted 2003, 69 A 4 EXH7] BAFY 6% Z ALHA At

20 mmR2 CIEEXNBD



H/B/IB/E

1. SAZE M0l Hgd Ao 2R

CCECEEEE TR T

ko

S M EREICE ER
(29 : E/2)

O tAAY : 5HA - YA - ARG T =) '97 | ‘98| 's9 | 00| ‘01| ‘02
- 1044/ (AA FAEXY 7] SAFY R7%) 4 7 | 1,076 | 3,178 | 4,228 | 5,195 | 5,671 | 8,575
1 ar (4670 A) | (167 2) 1 (2310 2) | (2337 2) | (2257 4) | (24974 2)
\RE-IAR=*Y aka) @ 3
A o1 S4E2207] B % A FR(0) = =| 547 | 1,007 | 1,223 1,905 | 2,099 | 2,598
(T2 E/9) Al M| (342)|(507H4) | (73 4) | (80744) (817 4) | (8074 4)
= gl 2k 529 12,171 | 3,005 | 3,290 | 3,572 | 5,977
Al o & | MEE Al A2 2) [01782) |58 2) |53 A) 4 2) | 169704)
10,424 3,483 987 5,953 : \
O HHEYE : Hr1ZRY AP ¥R O SAEXHY] A4 AR 02, 129)
- EHA] - FAA A G A gAY s u4 F (29 &/9)
A71ES ME SN ovEm, A7) 8 H o |AkEsh Al |Eb|st Al |sesEH &
Ik ARI e 2 AR WSS A T T [l e e fage ) vEe
Buks oy
) H | 249 |8,575| 120 (4,044 117 |3,796| 12 | 734
- AJAZ] 22005, 1 1(1997. 7. 19 H71E B —
N&FE AA) f‘lg 80 2,598 20 | 938 | 54 {1,360| 6 | 298
E—:g 169 |5,977| 100 |3,106] 63 |2.436| 6 | 436
2. SAIBMYD| &M 91 X123 sig

O FHE2H7] B 9 A Fo

(@9 &/9)

- 2 ‘97 ‘98 ‘39 ‘00 ‘01

BHAREE 113,063 (11,798 111,577 111,434 | 11,237

19848y Y)]| (0.29) | (0.25) | (0.25) | (0.24) | (0.23)
T 10,973 | 8,308 | 6,803 | 5,185 | 3,856

= ((84.0%)((70.4%) |(58.8%) | (45.4%)|(34.3%)

~ ot 815 | 923 | 846 | 1,088 | 1,003

TN 1(6.2%) | (7.8%) | (7.3%) | (9.5%) | (8.9%)

xere | 11275 | 2,566 | 3,928 | 5,161 | 6,378
"= 1(9.8%) [(21.8%)((33.9%)((45.1%) |(56.8%)




